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JNE] A HeEEE EESIEE ARy ki N HE)
JLiR HaEL 5 (] A O HEE| HVAE] SR EE ds A Esl SR (F) [ (&)
WX 44, 733][ 108, 938] 53, 428] 55,510 21 21 -7 64 71 28] 426] 398 o[ 138 138
HL—TH 653l 1,432 693 739 -7 -8 -1 0 1 -2 5 7 -5 1 6
AL =T H 535 1,339 667 672 2 6 0 0 0 3 4 1 3 4 1
FLL=TH 447(1 1,039 509 530 2 3 -1 0 1 4 4 0 0 0 0
Jul&EHl 1,635 3,810[ 1,869 1,941 -3 1 -2 0 2 5 13 8 -2 5 7
gon—-TH 479 1,037 481 556 -1 -5 0 1 1 ~4 5 9 -1 3 4
R _TH 7431 1,905 927 978 0 —4 -1 0 1 -3 0 3 0 0 0
S —=1H 504 1,254 623 631 1 4 1 2 1 3 3 0 0 0
g RN T H 370 934 460 474 -3 —4 -1 0 1 -2 2 4 -1 0 1
Sk H 538l 1,257 612 645 0 -1 0 0 -3 2 5 2 3 1
sk 81 H 228 529 249 280 -3 -5 0 0 ~4 0 4 -1 0 1
skt H 624 1,651 820 831 -3 -5 -1 1 2 -2 2 4 -2 0 2
s\ T H 386 919 460 459 0 5 1 1 0 4 5 1 0 0 0
ST H 579 1,455 720 735 -5 -7 -1 1 2 -1 2 3 -5 1 6
B 5 Ell 4,451 10,941 5,352| 5,589 14|  -22 -2 6 gl -12 21 33 -8 7 15
Heker w1 H 313 828 422 406 1 3 1 1 0 0 3 3 2 2 0
Heke A _ T H 904f 2,052 1,013] 1,039 4 3 -2 0 2 4 3 1 1 0
Hkr w1 H 656 1,506 735 771 0 1 0 2 2 -1 1 2 2 0
wi A Ekl 1,873 4,386] 2,170 2,216 5 7 -1 3 4 3 10 7 5 5 0
Mk a1 H 562 1,285 632 653 0 2 0 0 0 2 3 0 0 0
Mk _ 1T H 349 839 446 393 -1 -1 0 0 -3 5 2 3 1
Mk A =1H 249 563 285 278 1 4 1 0 0 0 3 3 0
Mk AT H 500f 1,248 638 610 -1 -5 -1 0 1 -3 5 8 0 0 0
maE A aaErl 1,6600 3,935 2,001| 1,934 -1 1 1 —4 12 16 5 6 1
L gl 336 984 437 547 2 0 0 4 7 3 1 1 0
HOEN— T H 152 388 188 200 -1 -5 1 0 -1 1 2 -5 0 5
HOER) T H 414 1,004 489 515 -1 -2 -2 0 2 -2 3 5 2 2 0
HOEEI T H 644/ 1,651 801 850 3 3 0 0 3 4 1 0 0 0
HOEESOPY T H 685 1,731 844 887 5 8 1 1 5 7 2 3 4 1
HoEE I ] H 383 942 467 475 1 -1 -2 0 2 1 1 0 0 0 0
HOEEO N T H 397 979 479 500 2 3 0 0 0 0 0 0 3 3 0
HE LT H 629 1,470 704 766 -1 2 -1 1 2 1 10 9 2 2 0
HOEEIAER 3,304 8,165] 3,972| 4,193 8 8 —4 3 7 7 26 19 5 11 6
PasE )| 1,446 3,082 1,445 1,637 1 2 ~4 1 5 -1 7 8 7 9 2
FHIAR 330 732 366 366 3 5 0 0 0 4 4 0 1 2 1
EEP AR —T 4531 1,008 496 512 -1 1 -1 1 2 3 3 0 -1 0 1
BRI  T H 213 479 249 230 5 6 0 0 0 6 6 0 0 0 0
BRI =T 472l 1,158 578 580 -1 -5 -1 0 1 -1 3 4 -3 0 3
EI LY T H 528 1, 164 564 600 -1 -3 0 2 2 -6 3 9 3 3 0
EEFI R T H 207 538 267 271 1 -1 -2 0 2 1 1 0 2 2
EED R AEE| 1,873\ 4,347 2,154| 2,193 3 -2 —4 3 7 3 16 13 -1 5 6
EEF AT — T F 649 1,406 667 739 1 1 1 1 0 0 4 4 0 0 0
EIHIARRT T | 600 1,315 614 701 -3 -2 0 2 2 -1 3 4 -1 0 1
RIS S 1,249 2,721 1,281 1,440 -2 -1 1 3 2 -1 7 8 -1 0 1
HIR 309 892 492 400 4 4 0 0 0 2 3 1 2 0
HHR—TH 625 1,546 779 767 -2 -2 1 1 0 -6 0 6 6 3
mdR T A| 1,495 3,711 1,839| 1,872 -1 3 7 7 0 2 19 17 -6 6 12
WHIR=TH 812| 2,244 1,104 1,140 2 -2 -1 0 1 -1 5 6 0 0
HHRIUT H 447 1,114 533 581 0 -1 0 0 0 -1 4 3 3
HAREE] 3,379 8,615] 4,255 4,360 -1 -2 8 1 -6 28 34 -3 15 18
IR —TH 584| 1,445 717 728 -1 3 3 1 4 -3 0
ALHR_TH 796 2,102] 1,037| 1,065 -3 -2 1 1 -1 -1 6
LR =TH 424 959 503 456 2 -1 -1 0 1 5 0 0
bR EEH 1,804 4,506 2,257| 2,249 -2 0 4 3 13 10 —4 6 10
T RETHT 319 836 395 441 2 4 2 2 0 3 1 0 0 0
wle| 1,565 5,043 2,325 2 718 3 10 -5 1 6 11 16 5 8 4
M E -1 H 7321 1,846 913 933 -1 1 1 1 0 -1 2 1 6 5
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HAlE T H 697 1,864 960 904 0 -3 0 0 0 ~4 1 5 1 2 1
HAE =T H 581|[ 1,483 734 749 0 0 1 1 -1 1 2 2 8 6
FAEMN T B 884l 2,270 1,123| 1,147 2 3 -2 0 2 1 9 8 4 5 1
ERIGENNE 562 1,390 680 710 -1 -2 0 0 0 -3 1 4 1 1 0
FREST H 404/ 1,060 509 551 -2 —4 1 1 0 ~4 0 4 -1 0 1
mEAE SR 3,860 9,913 4,919| 4,994 -2 —4 0 3 N -12 14 26 8 22 14
VEPIe R 500 1,167 573 594 —4 -7 1 1 0 —4 0 4 -5 0 5
g — T H 307 672 332 340 -5 -12 2 2 0 -6 0 6 -8 0 8
i — T H 580| 1,359 666 693 -5 -6 0 2 2 ~4 4 -2 1 3
A ASENN 887l 2,031 998 1,033| -10| -18 2 4 ol  -10 4 4l -10 1 11
BT H 274 645 326 319 5 2 1 1 0 5 100 95 ~4 0 4
2 _ T H 600 1,319 656 663 2 6 0 0 0 0 5 5 6 6 0
=T H 382 985 497 488 -1 -3 -1 0 1 -3 2 5 1 1 0
BhaEr 1,266 2,949 1,479| 1,470 6 5 0 1 1 2 107 105 3 7 4
e -1 H 390 1,062 516 546 -1 -2 0 1 1 -2 0 2 0 0 0
WHlE __TH 426 1,126 554 572 -2 -3 2 2 0 -2 0 2 -3 0 3
wYE —TH 7551 1,947 976 971 0 2 2 3 1 0 3 3 0 0 0
HHEMLT H 4411 1,062 508 554 0 2 0 0 0 3 5 2 -1 0 1
HWYE T H 745 1,715 842 873 1 2 -3 0 3 8 9 1 -3 0 3
WHENTH 215 490 249 241 1 4 0 0 0 0 1 1 4 4 0
HEAE] 2,972 7,402] 3,645 3,757 -1 5 1 6 5 7 18 11 -3 4 7
<HBXEL—TH 608[| 1,463 708 755 1 -2 0 2 2 0 6 6 -2 0 2
<HEIL—TH 687 1,583 780 803 1 —4 0 1 1 -5 1 6 1 1 0
<HBEL=TH 496( 1,180 593 587 -1 -3 -1 0 1 -2 1 3 0 0 0
BN T H 4821 1,093 540 553 -1 0 -1 1 2 1 4 3 0 0 0
SHELH T H 398 852 482 370 0 1 3 3 0 -1 3 4 -1 0 1
<X AE 2,671 6,171 3,103 3,068 0 -8 1 7 6 -7 15 22 -2 1 3
WIEAR — T H 747 1,697 835 862 4 2 0 0 0 -1 5 6 3 4 1
HIEARRT T H 424 1,114 557 557 0 3 0 1 1 2 4 2 1 3 2
WIEAR SR L 171l 2,811 1,392| 1,419 4 5 0 1 1 1 8 4 7 3
s 425 847 419 428 0 -1 0 0 0 3 2 —4 3 7
kw1 H 878l 1,473 665 808 -3 -8 1 1 0 -7 10 17 -2 1 3
kAT H 361 626 295 331 7 4 1 1 0 2 6 1 1 0
ok A= 1T H 587|1 1,640 765 875 1 8 0 0 0 3 2 5 5 0
ek AT H 337 739 355 384 1 -2 1 1 0 3 1 -6 0 6
gk A Ekl 2,163l 4,478] 2,080] 2,398 6 2 3 3 0 1 27 26 -2 7 9
FRIREET 23 62 32 30 0 -1 -1 0 1 0 0 0 0 0
iy 737 1,852 890 962 -1 -1 -3 0 3 4 2 -2 0 2
(R 255 655 311 344 0 1 1 1 0 1 0 -1 0 1
e — T H 380 1,022 528 494 12 21 0 0 0 17 18 1 4 4 0
a1 H 302 736 370 366 3 3 0 0 0 3 3 0 0 0 0
e G 6382 1,758 898 860 15 24 0 0 0 20 21 1 4 4 0
Va1 H 624/ 1,399 698 701 -1 4 0 1 1 4 6 2 0 0 0
VEfEEEE] T H 481\ 1,224 590 634 0 -2 0 1 1 -1 4 5 -1 0 1
et A a1, 10501 2,623 1,288 1,335 -1 2 0 2 2 3 10 7 -1 0 1
i A 272 655 326 329 1 -1 -1 0 1 0 2 2 0 0 0
IR 221 569 304 265 0 -1 0 0 0 -1 1 2 0 0




